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(szt) | (szt) | (cm) [ (cm) (cm) | (m) | (m) | (m2) | (m2)
131 |lipa drobnolistna drzewo | 1 1 42 11319 164,9| 4 2 obciety wierzchotek
: . 1 48 | 150,7 | 188,4 . .
132 |lipa drobnolistna drzewo | 1 1 24 | 75.4 | 94.2 4 2 obciety wierzchotek
133 |[lipa drobnolistna drzewo [ 1 1 46 | 144,41 180,6 | 4 1 obciety wierzchotek
134 |lipa drobnolistna drzewo | 1 1 40 [ 1256 1570] 5 3
135 [jesion wyniosty drzewo | 1 1 [ 110 )345,4]1431,8] 8 7
136 [$liwa atycza drzewo | 1 12 8 251 | 314 | 4 6
137 [zywotnik zachodni drzewo | 1 1 18 | 56,5 | 70,7 [ 10| 2
138 [zywotnik zachodni drzewo | 1 1 18 | 56,5 | 70,7 [ 10| 2
. . : 1 22 | 69,1 | 86,4
139 |zywotnik zachodni drzewo | 1 1 12 | 377 | 471 10| 2
140 [zywotnik zachodni drzewo | 1 1 20 |1 628 | 785 | 10| 2
. . : 1 10 | 31,4 | 39,3
141 |zywotnik zachodni drzewo | 1 1 16 | 502 | 628 10| 2
142 [dab szyputkowy drzewo | 1 1 15 | 471 1 589 [ 14| 3
143 [dab szyputkowy drzewo | 1 1 20 |1 628 | 785 | 14| 2
144 [dab szyputkowy drzewo | 1 1 26 | 81,6 |1021] 16 | 3
145 [dab szyputkowy drzewo | 1 1 26 | 81,6 | 1021 17 | 3
146 [dab szyputkowy drzewo | 1 1 38 | 119,3[ 1492 18 | 4
147 [zywotnik zachodni drzewo | 1 1 32 |1 100,5[ 1256 10 | 2
148 [dab szyputkowy drzewo | 1 1 20 | 628 | 785 | 16 | 3
. . . 1 10 | 31,4 | 39,3
149 |zywotnik zachodni drzewo | 1 1 20 | 628 | 785 10 ] 2
1 10 | 31,4 | 39,3
150 |zywotnik zachodni drzewo | 1 1 20 | 628 | 785 | 10| 3
1 16 | 50,2 | 62,8
151 |2zywotnik zachodni drzewo | 1 1 20 [ 628 | 785 | 12 | 2
. . . 1 20 | 62,8 | 78,5
1562 |zywotnik zachodni drzewo | 1 1 12 | 377 | 471 121 3
grupa: i 0
153 Zywotnik zachodni grupa 3 3 zageszczenie 100%
154 [brzoza brodawkowata | drzewo | 1 1 20 | 628 | 785 | 6 3
155 [jesion wyniosty drzewo | 1 1 [130]408,2]510,3| 16 | 7
156 [jesion wyniosty drzewo | 1 1 [125]13925]4906| 16 | 6
157 [jesion wyniosty drzewo | 1 1 [130]408,2]510,3| 18 | 8
158 [jesion wyniosty drzewo | 1 1 [ 110345414318 18| 7
. . utamany
159 |jesion wyniosty drzewo | 1 1 110 |1 3454 431,8| 5 6 .
wierzchotek
160 [jesion wyniosty drzewo | 1 1 [115]1361,1]14514| 18 | 8
L . 1 95 |298,3|372,9
161 [jesion wyniosty drzewo | 1 1 20 | 628 | 785 18| 6
162 [jesion wyniosty drzewo | 1 1 [ 116 ]1364,2]14553| 18 | 9
163 [jesion wyniosty drzewo | 1 1 [102]320,3]4004| 18 | 8
164 |jesion wyniosty drzewo | 1 1 105 [ 329,71 4121| 18 | 7
165 |jesion wyniosty drzewo | 1 1 98 | 307,7]384,7| 18 | 10
. . 1 30 | 94,2 [ 117,8
166 |jesion wyniosty drzewo | 1 1 18 | 565 | 70.7 10| 5
1R7 liacinn wwnminch, Arzawn 1 1 26 81 ’6 102’1 1N A
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R SR e 1 15 | 4711589 | | °
grupa:
168 |czeremcha pospolita, 3 zageszczenie 40%
jesion wyniosty,
169 [jesion wyniosty drzewo | 1 1 80 | 25123140 16 | 3
170 [jesion wyniosty drzewo | 1 1 92 1 2889[361,1[ 18] 5
171 [jesion wyniosty drzewo | 1 1 [ 102 ) 320,3]400,4] 18 | 10
172 |jesion wyniosty drzewo | 1 1 [105]1329,7]14121| 18| 6
173 [jesion wyniosty drzewo | 1 1 [120)376,8]4710| 18 | 8
174 |jesion wyniosty drzewo | 1 1 [ 150 1471,0]588,8] 20 | 12
175 [jesion wyniosty drzewo | 1 1 96 |301,4[376,8| 18 | 8
176 [jesion wyniosty drzewo | 1 1 98 |307,7[384,7( 18 | 10
177 |jesion wyniosty drzewo | 1 1 [ 116 ]1364,2]14553| 20 | 4
178 [jesion wyniosty drzewo | 1 1 [ 104 | 326,6|4082| 18 | 5
179 [jesion wyniosty drzewo | 1 1 [100]314,0]3925| 20 | 6
180 [jesion wyniosty drzewo | 1 1 [ 116 ]364,2]14553| 20 | 8
181 [jesion wyniosty drzewo | 1 1 [ 104 | 326,6|408,2] 20 | 10
182 |klon pospolity drzewo | 1 1 88 | 276,3]3454| 16 | 6
183 |suche drzewo | 1 1 88 2763|3454 15| 2
184 [jesion wyniosty drzewo | 1 1 [102]320,3]4004| 16 | 6
185 [jesion wyniosty drzewo | 1 1 92 | 2889([361,1[ 16 | 5
186 [jesion wyniosty drzewo | 1 1 52 1163,3[204,1| 16 | 3
187 [jesion wyniosty drzewo | 1 1 84 1263,8[329,7| 16 | 4
188 [jesion wyniosty drzewo | 1 1 76 |238,6[298,3| 16 | 4
189 [jesion wyniosty drzewo | 1 1 [102]320,3]4004| 18| 6
190 [jesion wyniosty drzewo | 1 1 38 | 119,3[ 1492 14| 3
191 [jesion wyniosty drzewo | 1 1 54 1169,6[2120( 14| 4
192 [jesion wyniosty drzewo | 1 1 [102]320,3]4004| 16 | 6
193 [jesion wyniosty drzewo | 1 1 52 1163,3[204,1| 16 | 5
194 [jesion wyniosty drzewo | 1 1 [100]314,0]13925| 16 | 4
195 [jesion wyniosty drzewo | 1 1 58 | 182,1[227,7| 16 | 6
196 [jesion wyniosty drzewo | 1 1 72 1226,1[2826| 17| 6
197 [jesion wyniosty drzewo | 1 1 [100]314,0]3925| 15| 6
198 [jesion wyniosty drzewo | 1 1 95 |298,3[3729(| 16 | 8
199 [jesion wyniosty drzewo | 1 1 96 |301,4[376,8| 17| 8
200 |jesion wyniosty drzewo | 1 1 38 | 119,3[ 1492 14| 4
201 |jesion wyniosty drzewo | 1 1 38 | 119,3[ 1492 12 | 5
202 |jesion wyniosty drzewo | 1 1 [100]314,0]3925| 16 | 7
203 |jesion wyniosty drzewo | 1 1 66 | 207,2[2591| 18 | 4
204 |jesion wyniosty drzewo | 1 1 48 |1 150,7]188,4| 16 | 5
205 |jesion wyniosty drzewo | 1 1 [101]1317,1]1396,4| 18| 6
206 |lipa drobnolistna drzewo | 1 1 ] 250 7850(981,3| 24 | 15
207 |lipa drobnolistna drzewo | 1 1 110 | 345,41 431,8 | 22 | 10 utamane konary
208 |jesion wyniosty drzewo | 1 1 35 | 1099([ 1374 16| 6
209 |lipa drobnolistna drzewo | 1 1 52 1163,3]1204,1| 18 | 1 sucha
210 |kasztanowiec pospolity | drzewo | 1 1 72 | 226,1]12826| 18| 5
211 |kasztanowiec pospolity | drzewo | 1 1 65 [204,1]12551| 18 | 6
212 |jesion wyniosty drzewo | 1 1 46 1144411806 | 17 | 4
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213 |jesion wyniosty drzewo | 1 1 48 1 150,7]188,4| 16 | 6
214 |jesion wyniosty drzewo | 1 1 [ 126 13956]4946] 18 | 10
215 |lipa drobnolistna drzewo | 1 1 96 | 301,4]376,8| 20 | 6
216 |jesion wyniosty drzewo | 1 1 36 | 113,0[141,3[ 14| 4
217 |lipa drobnolistna drzewo | 1 1 115 [ 361,11 4514 22 | 10
218 |jesion wyniosty drzewo | 1 1 [ 116 ]364,2]14553| 20 | 8
219 |lipa drobnolistna drzewo | 1 1 38 | 119,3]1149,2| 16 | 4
220 |jesion wyniosty drzewo | 1 1 [128 1401915024 | 18| 6
221 |jesion wyniosty drzewo | 1 1 40 |1 1256 ]1570| 15 ] 6
222 |jesion wyniosty drzewo | 1 1 [ 110345414318 18] 5
223 |jesion wyniosty drzewo | 1 1 [ 106 ]332,8]416,1| 18 | 6
224 llipa drobnolistna drzewo | 1 1 180 [ 565,2| 706,5| 22 | 4 utamane konary
225 |lipa drobnolistna drzewo | 1 1 130 | 408,21 510,3| 17 | 6 utamane konary
226 |kasztanowiec pospolity | drzewo | 1 1 115 [ 361,11 4514 18 | 10
227 |lipa drobnolistna drzewo | 1 1 75 1235512944 20 | 10
228 |jesion wyniosty drzewo | 1 1 [120)376,8]471,0] 20 | 10
229 |lipa drobnolistna drzewo | 1 1 80 | 251213140 18 | 12
230 |lipa drobnolistna drzewo | 1 1 ] 180 | 565,2|706,5| 20 | 12 utamane konary
231 |lipa drobnolistna drzewo | 1 1 40 | 1256|1570 20 | 5
232 |kasztanowiec pospolity | drzewo | 1 1 85 |266,9]333,6[ 20 | 10
233 |lipa drobnolistna drzewo | 1 1 ]1100]314,0{3925] 10| 4 utamane konary
234 |lipa drobnolistna drzewo [ 1 1 [115]1361,1]14514] 8 6 utamane konary
235 |lipa drobnolistna drzewo | 1 1 66 [207,2]12591| 22 | 6
236 |lipa drobnolistna drzewo | 1 1 80 | 251213140 22 | 6
237 |lipa drobnolistna drzewo | 1 1 1251392514906 | 24 | 8 utamane konary
238 |lipa drobnolistna drzewo | 1 1 ] 102 ]320,3[{400,4] 20 | 4
239 |[lipa drobnolistna drzewo | 1 1 82 [257,5]13219| 16 | 5 utamany wierzchotek
240 |[lipa drobnolistna drzewo | 1 1 108 |1 339,1[4239| 6 2 utamany wierzchotek
241 |lipa drobnolistna drzewo | 1 1 115 | 361,11 451,4| 24 8 zdrowe !
242 |lipa drobnolistna drzewo | 1 1 116 [ 364,21 4553 | 24 | 7
243 |lipa drobnolistna drzewo | 1 1 35 |11099]1374| 16 | 3
244 llipa drobnolistna drzewo | 1 1 82 | 257513219 20| 7
245 |lipa drobnolistna drzewo | 1 1 76 | 238,6]298,3| 18 | 8
3 | 30 | 94,2 | 117,8
246 |lipa drobnolistna drzewo | 1 | gg 1817%0 18‘;:3 16 | 10 utamany wierzcholek
1 25 | 78,5 [ 98,1
247 |lipa drobnolistna drzewo | 1 1 116 | 364,2 | 455,3 | 22 | 12
248 |lipa drobnolistna drzewo | 1 1 45 [ 141,31 1766 | 20 | 4
249 |lipa drobnolistna drzewo | 1 1 1118 1370,5[463,2] 20 | 8
250 [Kklon jawor drzewo | 1 1 56 | 17582198 22 | 4
: . 2 30 | 94,2 | 117,8
251 |lipa drobnolistna drzewo | 1 1 26 | 81.6 | 102.1 22 | 5
. . 1 35 | 109,9( 137,4
252 |lipa drobnolistna drzewo | 1 1 24 | 75.4 | 94.2 22 | 4
. . 1 20 | 62,8 | 78,5
253 |lipa drobnolistna drzewo | 1 1 28 | 87.9 | 109.9 20| 4
254 |lipa drobnolistna drzewo | 1 1 98 | 307,7]1384,7| 22 | 6
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255 |[lipa drobnolistna drzewo | 1 1 97 [304,61380,7| 14 | 4 utamany wierzchotek
256 |lipa drobnolistna drzewo | 1 1 111013454 (4318]| 24| 6
257 |lipa drobnolistna drzewo | 1 1 114 1 358,0(4475] 25 | 12
258 [robinia akacjowa drzewo | 1 1 75 12355[2944( 14 ] 5
259 |lipa drobnolistna drzewo | 1 1 74 1232412905 15| 6
260 [klon jawor drzewo | 1 1 64 |1201,0[2512| 16 | 4
261 [robinia akacjowa drzewo | 1 1 62 | 194,7[2434| 18| 6
262 |wigz szyputkowy drzewo [ 1 1 44 1138,21172,7]1 22| 5
263 |wigz szyputkowy drzewo [ 1 1 42 1131,9]11649] 22 | 5
1 30 | 94,2 | 117,8
264 |klon pospolity drzewo | 1 1 20 | 628 | 785 | 14 | 4
1 18 | 56,5 | 70,7
265 [robinia akacjowa drzewo | 1 1 48 1150,7]1188,4| 20 | 8
266 [robinia akacjowa drzewo | 1 1 36 | 113,0[141,3[ 20 | 8
. 1 18 | 56,5 | 70,7
267 |wigz szyputkowy drzewo | 1 1 22 | 69.1 | 86.4 14 ] 5
268 |lipa drobnolistna drzewo | 1 1 111013454 (4318] 22 | 8
269 |lipa drobnolistna drzewo | 1 1 76 | 238,6 12983 22| 6
270 |suche drzewo | 1 1 42 [1319]11649| 18 | 6
271 |robinia akacjowa drzewo | 1 1 65 | 204,1[2551| 14| 8
272 |lipa drobnolistna drzewo | 1 1 80 | 251213140 20 | 6
: . 1 60 | 188,4 | 235,5
273 |lipa drobnolistna drzewo | 1 1 40 | 125.6 | 157.0 20| 8
274 |lipa drobnolistna drzewo | 1 1 90 | 282,6]353,3| 18 | 10
275 |lipa drobnolistna drzewo | 1 1 62 |1194,712434| 18 | 8 pochylona
276 |robinia akacjowa drzewo | 1 1 [ 102 ) 320,3]400,4] 20 | 10
277 |lipa drobnolistna drzewo | 1 1 85 | 266,9]3336| 18| 6
278 |lipa drobnolistna drzewo | 1 1 88 |276,3]3454| 20 | 4
279 |pien drzewo | 1 1 30 | 942 | 1178 3
i . 1 38 | 119,3 | 149,2
280 |robinia akacjowa drzewo | 1 1 30 | 942 |117.8 20| 6
281 [robinia akacjowa drzewo | 1 1 42 11319]1649| 20 | 6
282 |robinia akacjowa drzewo | 1 1 45 [ 141,31 176,6| 20 | 7
283 [robinia akacjowa drzewo | 1 1 86 | 270,0[3376| 20| 8
284 |lipa drobnolistna drzewo | 1 1 42 11319]11649] 16 | 5
285 |jarzgb pospolity drzewo | 1 1 12 | 37,7 | 471 5 2
286 |lipa drobnolistna drzewo | 1 1 65 [204,1]12551| 15| 6
287 |lipa drobnolistna drzewo | 1 1 26 | 816 |1021] 14 [ 5
288 |lipa drobnolistna drzewo | 1 1 40 | 1256 157,0] 15| 5
289 |[robinia akacjowa drzewo | 1 1 72 1226,1[2826| 18| 6
290 |lipa drobnolistna drzewo | 1 1 32 1100,5] 1256 | 12 | 4
: . 1 50 | 157,0| 196,3
291 |lipa drobnolistna drzewo | 1 1 28 | 87.9 | 109.9 14 ] 5
292 |lipa drobnolistna drzewo | 1 1 48 | 150,71 188,4| 14 | 4
293 |lipa drobnolistna drzewo | 1 1 32 1100,5] 1256 12| 3
: . 1 38 | 119,3 | 149,2
294 |lipa drobnolistna drzewo | 1 1 35 | 109.9 | 137.4 16| 6
295 |lipa drobnolistna drzewo | 1 1 65 [ 204,11 2551| 18 [ 5
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296 |lipa drobnolistna drzewo | 1 1 66 [207,2]1259,1| 18 [ 5
297 |pien drzewo | 1 1 30 | 942 | 1178 2
298 |[lipa drobnolistna drzewo | 1 1 30 | 942 | 1178 10 | 2
299 |lipa drobnolistna drzewo | 1 1 42 11319]11649] 16 | 5
300 [lipa drobnolistna drzewo | 1 1 52 [163,3]12041| 16 | 5
301 |lipa drobnolistna drzewo | 1 1 98 | 307,7]384,7| 18 | 5
302 |jarzgb pospolity drzewo | 1 1 30 | 942 | 1178 14 | 4
303 |lipa drobnolistna drzewo | 1 1 72 | 226,112826| 16 | 5
4 18 | 56,5 | 70,7
304 lipa drobnolistna drzewo | 1 1 30 | 94,2 [ 117,8| 15| 7
1 10 | 31,4 | 39,3
305 |lipa drobnolistna drzewo | 1 1 40 |1 12561570 16 [ 5
306 [lipa drobnolistna drzewo | 1 1 45 [ 141311766 | 18 [ 6
307 |jarzgb pospolity drzewo | 1 1 45 [ 141,31 176,6| 10 [ 3
. . 2 38 | 119,3 | 149,2
308 [lipa drobnolistna drzewo | 1 1 36 | 113.0 | 141.3 16| 6
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: . 1 40 | 125,6 | 157,0
309 [lipa drobnolistna drzewo | 1 1 42 | 131.9 | 164.9 16| 8
: . 1 22 | 69,1 | 86,4
310 [lipa drobnolistna drzewo | 1 1 32 | 1005 | 1256 16| 6
311 |lipa drobnolistna drzewo | 1 1 38 | 119,3]1149,2| 16 | 5
312 |lipa drobnolistna drzewo | 1 1 46 | 144411806 | 16 | 5
313 |robinia akacjowa drzewo | 1 1 46 |1144,411806| 16 | 6
314 |lipa drobnolistna drzewo | 1 1 40 | 1256|1570 16 | 6
315 |lipa drobnolistna drzewo | 1 1 ] 106 |332,8[416,1] 18 | 8
316 |lipa drobnolistna drzewo | 1 1 68 [213,5]12669| 18 [ 6
317 |jarzab pospolity drzewo | 1 1 20 |1 628 | 785 | 10| 3
318 |lipa drobnolistna drzewo | 1 1 90 | 282,6]353,3| 16 | 6
319 |lipa drobnolistna drzewo | 1 1 52 1 163,3]204,1| 16 | 6
320 |lipa drobnolistna drzewo | 1 1 55 | 172,71 2159 | 16 | 5
321 |lipa drobnolistna drzewo | 1 1 50 | 157,0]196,3| 18 | 5
322 |lipa drobnolistna drzewo | 1 1 66 [207,2]12591| 14 | 6
323 |lipa drobnolistna drzewo | 1 1 30 | 942 | 1178 10 | 4
324 |jarzab pospolity drzewo | 1 1 10 | 314 ] 393 | 4 2
325 |lipa drobnolistna drzewo | 1 1 20 | 628 | 785 | 5 2
326 |jarzab pospolity drzewo | 1 1 18 | 56,5 | 70,7 | 5 2
327 |lipa drobnolistna drzewo | 1 1 70 1219812748 16 | 8
328 |jarzgb pospolity drzewo | 1 1 20 | 628 | 785 | 5 2
329 [robinia akacjowa drzewo | 1 1 38 |1 119,3]1149,2| 16 | 4
330 [robinia akacjowa drzewo | 1 1 45 [ 141311766 | 16 [ 5
331 |lipa drobnolistna drzewo | 1 1 68 [213,5]|1266,9| 16 [ 8
332 |lipa drobnolistna drzewo | 1 1 30 | 942 | 1178 12| 3
333 [lipa drobnolistna drzewo | 1 1 40 |1 1256|1570 16 | 4
334 |lipa drobnolistna drzewo | 1 1 44 138,21 172,7| 16 | 4
: . 1 44 |1 138,21 172,7
335 |[lipa drobnolistna drzewo | 1 1 46 | 144.4 | 1806 16| 6
336 |[lipa drobnolistna drzewo | 1 1 38 [ 119311492 16 | 5
337 |lipa drobnolistna drzewo | 1 1 46 | 14441806 | 16 | 6
338 |lipa drobnolistna drzewo | 1 1 88 |276,3]|3454 | 16 | 10
339 |jarzgb pospolity drzewo | 1 1 20 | 628 | 785 | 5 2
340 |lipa drobnolistna drzewo | 1 1 10 | 314 | 393 | 4 2
341 |lipa drobnolistna drzewo | 1 1 1100 ]314,0{3925]| 20 | 10
342 |lipa drobnolistna drzewo | 1 1 56 | 175,81 219,8| 16 | 5
343 |lipa drobnolistna drzewo | 1 1 62 |1194,712434]| 16 | 6
344 |brzoza brodawkowata | drzewo| 1 1 40 | 1256|1570 20 | 4
345 |brzoza brodawkowata | drzewo| 1 1 30 | 942 | 1178 20 | 3
346 |jarzab pospolity drzewo | 1 1 15 | 471 1 589 | 5 2
: . 1 80 | 251,2| 314,0
347 |lipa drobnolistna drzewo | 1 5 20 | 628 | 785 24 | 16
348 |lipa drobnolistna drzewo | 1 1 32 [100,5] 1256 12 3
349 |jarzab pospolity drzewo | 1 1 34 1106,8[ 1335 13| 4
350 |jarzab pospolity drzewo | 1 1 18 | 56,5 | 70,7 | 4 3
351 |jarzab pospolity drzewo | 1 1 24 | 754 1 942 | 3 2 utamany wierzchotek
352 |jarzab pospolity drzewo | 1 1 22 1 691 ] 864 | 6 5
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(szt.) | (szt.) | (cm) (cm) (cm) (m) | (m) | (m2) | (m2)
1 28 | 87,9 | 109,9
353 [robinia akacjowa drzewo | 1 1 30 | 94,2 | 117,8| 16 | 10
1 62 | 194,7 | 2434
354 |lipa drobnolistna drzewo | 1 1 65 | 204,1]12551]| 16 | 6
355 |lipa drobnolistna drzewo | 1 1 38 [ 119311492 16 | 5
356 |brzoza brodawkowata | drzewo| 1 1 42 1131,9]11649] 20 | 3
357 |lipa drobnolistna drzewo | 1 1 52 1163,3]204,1| 18 | 5
1 18 | 56,5 | 70,7
358 |brzoza brodawkowata | drzewo| 1 1 20 | 628 | 785 151 4
359 |[topola wioska drzewo | 1 1 38 [ 119311492 20| 3
360 |jarzgb pospolity drzewo | 1 1 21 | 659 | 824 | 6 2
361 |jarzgb pospolity drzewo | 1 1 32 1 100,5] 1256 6 2
362 |jarzgb pospolity drzewo | 1 1 20 | 628 | 785 | 6 3
363 |wisnia ptasia drzewo | 1 1 75 2355|2944 14 | 10
364 |lipa drobnolistna drzewo | 1 1 52 [ 163,3] 204,1| 20 8
365 |jarzgb pospolity drzewo | 1 1 22 | 69,1 ] 864 | 6 3
366 |jarzgb pospolity drzewo | 1 1 34 |1106,8] 1335 6 3
367 |jarzgb pospolity drzewo | 1 1 38 | 119,31 1492 6 3
368 |lipa drobnolistna drzewo | 1 1 54 [169,612120| 20 | 8
369 |lipa drobnolistna drzewo | 1 1 100 |1 314,01 3925| 16 | 6




